
Practise Landy                                       NG34Bridge 

Choose your next bid   

Hand: 1 

Dealer: West Vul: None 

West North East South 

  1NT ? 
 

South 

 A Q 8 4 2 

 K J 10 5 3 

 A 6 

 7  

Answer: 2  

Perfect Landy hand. 5-5 in the majors. Majority of 

the points evenly spread between the two majors. 

14 HCP ad just 5 losers 

Hand: 2 

Dealer: West Vul: None 

West North East South 

  1NT ? 
 

South 

 Q J 10 6 3 

 K Q 9 6 4 

 6 

 K 8  

Answer: 2  

As above. Not quite so stong but well worth a 

Landy bid. 

Hand: 3 

Dealer: West Vul: None 

West North East South 

  1NT ? 
 

South 

 Q J 10 9 3 

 A K J 7 

 5 

 A Q 6  

Answer: Double 

To strong for Landy. With 16+ HCP, any shape, 

you should always double a weak 1NT opeing bid. 

Hand: 4 

Dealer: West Vul: None 

West North East South 

  1NT ? 
 

South 

 Q 10 8 4 

 K Q J 9 7 5 

 A 6 

 8  

Answer: 2  

When 6-4 in the majors it is usually better to bid 

your 6 card major. If you bid Landy and partner 

has three cards in your 4 card suit and two cards in 

your 6 card suit you will miss the 6-2 major fit.  

Hand: 5 

Dealer: West Vul: None 

West North East South 

  1NT ? 
 

South 

 A J 10 8 

 K Q 9 4 

 10 7 

 K 8 5 

Answer: Pass 

Do not bid Landy when 4-4 in the majors.  

Hand: 6 

Dealer: West Vul: None 

West North East South 

1NT 2  Pass ? 
 

South 

 J 5 

 9 7 5 3 

 7 

 J 10 8 6 4 2  

Answer: 2  

You have an 8 card fit in hearts!  

Hand: 7 

Dealer: West Vul: None 

West North East South 

1NT 2  Pass ? 
 

South 

 J 6 

 K 10 9 7 

 A Q 7 3 

 10 8 2  

Answer: 3  

Partner will  have at most 7 losers for her Landy 

bid. You have 8 losers so are worth a jump to 3 . 

If partner has 6 losers hand she should bid game.  

Hand: 8 

Dealer: West Vul: None 

West North East South 

1NT 2  Pass ? 
 

South 

 K J 5 

 A J 8 

 10 4 

 K Q 9 7 2  

Answer: 2  

This bid asks partner to bid her longer major. You 

have a 7 loser hand so plan to bid game once you 

have located partner’s 5 card major.  

Hand: 9 

Dealer: West Vul: None 

West North East South 

1NT 2  Pass ? 
 

South 

 K 8 3 

 Q 10 8 5 4 

 - 

 10 9 7 4 2 

Answer: 4  

Game is by no means certain but with 7 losers 

opposite partner’s assumed 7 losers it is a 

reasonable gamble. 

Hand: 10 

Dealer: West Vul: None 

West North East South 

1NT 2  Pass ? 
 

South 

 10 5 

 K 

 A K Q J 7 4 

 Q 10 8 3 

Answer: 3NT 

No fit for partner but your 16 HCP justify a game 

bid. 

 


